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Maximum Marks : 85
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iz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSA
Attempt all questions. Distribution of marks is given against each Question.

Word limit for each Answer is 250-300 words.

iz'u 1- ^v* rFkk ^c* dh vk;q esa 9%%%%%4 dk vuqikr gSA lkr o"kZ ckn mudh vk;q dk    ¼17½
vuqikr 5%%%%%3 gksxkA orZeku esa nksuksa dh vk;q fudkfy,A
The ages of A and B are in the ratio of 9:4 Seven years hence, the ratio of their

ages will be 5:3 Find their ages.

iz'u 2- ,d ukfod unh ds cgko dh vksj 96 fd-eh- 8 ?k.Vs esa uko ysdj tkrk gS   ¼17½
vkSj cgok ds foijhr 12 ?k.Vs esa ykSVrk gSA uko rFkk unh dh pky Kkr dhft,A
A boatman goes 96 Km in 8 hours with the flow of a river and returns in 12 hours

against the flow. Find the speed of the boat and river.

iz'u 3- vkO;wg fdls dgrs gSa\ vkO;wg ds dkSu&dkSu ls izdkj gksrs gSa\      ¼17½

What in matrix? What are different types of matrices?

iz'u 4- y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, %     ¼17½

Find the value with the help of logarithm tables :

847.5

4569.0 2)36.25( x

iz'u 5-  7 izfr'kr okf"kZd lk/kkj.k C;kt dh nj ls fdruk fofu;ksx djuk pkfg,     ¼17½

fd 210 #- okf"kZd vk; izkIr gks ldsA
How much investment is required to yield an annual income of Rs. 210. at 7% per

annum simple interest.
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